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QUESTION 1

What is environmental responsibility about? 

A. Protecting the health, balance and diversity of human and natural resources 

B. The need to consider the well being of the environment 

C. Both 

Correct Answer: C 

 

QUESTION 2

What is a main source of power costs for e-mail? 

A. Reading e-mail 

B. Saving e-mail 

C. Sending e-mail 

Correct Answer: B 

 

QUESTION 3

What are carbon offsets? 

A. Certificates that represent the payment for some activity that reduces greenhouse gas emissions. 

B. Natural gases produced by rainforests which work against the formation of carbon dioxide (CO2). 

C. Power generating installations based on natural sources of energy, such as solar panels and windmills. 

Correct Answer: A 

 

QUESTION 4

What is an acknowledged advantage of telecommuting? 

A. It helps to reduce carbon emissions. 

B. Remote meetings are more productive. 

C. Work gets done more easily. 

Correct Answer: A 
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QUESTION 5

How does IT in general, or more specifically Green IT, help to decrease worldwide carbon emissions? 

A. IT is responsible for the operation of large windmill parks. 

B. IT reduces the need for transportation. 

C. IT uses very little energy. 

Correct Answer: B 
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